Polyatomic Ions

-ate and -ite
(If they end with -ate
Inside the 4-shape…4 oxygens
PO43-

SO42-

AsO43-


SeO42-
TeO42-

Outside the 4-shape…3 oxygens

NO3-

CO32-

ClO3-


BrO3-

FO3-
(If they end with -ite

Subtract one oxygen from those ending in -ate.

CHARGES STAY THE SAME!!!

PO43- becomes PO33-
phosphate becomes phosphite
SO42- becomes SO32- 
sulfate becomes sulfite
NO3- becomes NO2- 
nitrate becomes nitrite
CO32- becomes CO22- 
carbonate becomes carbonite
ClO3- becomes ClO2- 
chlorate becomes chlorite
What are the charges? 

(Follow the monatomic pattern except for C and N.
	C
	N
	O
	F

	
	P
	S
	Cl

	
	As
	Se
	Br

	
	
	Te
	I


	2-
	1-
	2-
	1-

	
	3-
	2-
	1-

	
	3-
	2-
	1-

	
	
	2-
	1-





These are all –ate ions:
	CO32-
	NO3-
	C2O42-
	FO3-
	Hint: C2O42- is actually the oxalate ion

	
	PO43-
	SO42-
	ClO3-
	

	
	AsO43-
	SeO42-
	BrO3-
	

	
	
	TeO42-
	IO3-
	


https://sites.google.com/site/chempendix/polyatomic-ions http://bhsapchem.weebly.com/uploads/6/2/3/8/6238407/polyatomic-ions.pdf 
